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Part A

Section Id : 68634093

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 21

Number of Questions to be attempted : 21

Section Marks : 100

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 686340139

Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 6863404647 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 6863404648 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Suged e BT =9 BIfT:

1. AFAT SR IS
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4, TP SR 1T

Options :

68634018401. 1

68634018402. 2

68634018403. 3
68634018404. 4
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Question Number : 2 Question Id : 6863404649 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018405. 1
68634018406. 2
68634018407. 3



68634018408. 4

Question Number : 3 Question Id : 6863404650 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634018409. 1
68634018410. 2
68634018411. 3

68634018412. 4

Question Number : 4 Question Id : 6863404651 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018413. 1
68634018414. 2
68634018415. 3
68634018416. 4

Question Number : 5 Question Id : 6863404652 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018417. 1
68634018418. 2
68634018419. 3
68634018420. 4

Question Id : 6863404647 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 6863404648 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634018401. 1
68634018402. 2
68634018403. 3
68634018404. 4

Question Number : 2 Question Id : 6863404649 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4, Iof-ITa == &A1
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Options :

68634018405. 1
68634018406. 2
68634018407. 3
68634018408. 4

Question Number : 3 Question Id : 6863404650 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR 1 Ty gargu|

L gy
2. Il

3, forarit
4. ddr

Options :

68634018409. 1
68634018410. 2
68634018411. 3
68634018412. 4

Question Number : 4 Question Id : 6863404651 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018413. 1
68634018414. 2
68634018415. 3
68634018416. 4

Question Number : 5 Question Id : 6863404652 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68634018417. 1
68634018418. 2
68634018419. 3
68634018420. 4

Sub-Section Number : 2
Sub-Section Id : 686340140
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863404653 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A, YiRedt

B. Qi
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D. ol
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1.$PadA. C.E
2. HAAdA.D.E

3. $4dB.C.D
4. PAAC.D.E

Options :

68634018421. 1
68634018422. 2
68634018423. 3
68634018424. 4

Question Number : 6 Question Id : 6863404653 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634018421. 1
68634018422. 2
68634018423. 3
68634018424. 4

Question Number : 7 Question Id : 6863404654 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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cA-L B-II. C-III, D-IV
3. A-IV. B-III. C-II. D-I
4. A-I11, B-1, C-IV. D-II

Options :

68634018425. 1
68634018426. 2
68634018427. 3
68634018428. 4

Question Number : 7 Question Id : 6863404654 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018425. 1

68634018426. 2

68634018427.3
68634018428. 4

Question Number : 8 Question Id : 6863404655 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018429. 1
68634018430. 2
68634018431. 3
68634018432 4
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Question Number : 8 Question Id : 6863404655 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018429. 1
68634018430. 2
68634018431. 3
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Question Number : 9 Question Id : 6863404656 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018433. 1
68634018434. 2
68634018435. 3
68634018436. 4

Question Number : 9 Question Id : 6863404656 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. PAAB.E.C

Options :

68634018433. 1
68634018434. 2
68634018435. 3
68634018436. 4

Question Number : 10 Question Id : 6863404657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T & G ida g § <iaa s 8
1. fepan
T
3. fa=o
4. fowmaife qive

Options :

68634018437. 1
68634018438. 2
68634018439. 3
68634018440. 4

[

Question Number : 10 Question Id : 6863404657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018437. 1
68634018438. 2
68634018439. 3
68634018440. 4

Question Number : 11 Question Id : 6863404658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. 312500
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Options :
68634018441. 1
68634018442. 2

68634018443.3
68634018444. 4

Question Number : 11 Question Id : 6863404658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634018442. 2
68634018443.3
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Question Number : 12 Question Id : 6863404659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018445. 1
68634018446. 2
68634018447. 3
68634018448. 4

Question Number : 12 Question Id : 6863404659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634018445. 1
68634018446. 2
68634018447. 3
68634018448. 4

Question Number : 13 Question Id : 6863404660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634018449. 1
68634018450, 2
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Question Number : 13 Question Id : 6863404660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018449. 1
68634018450. 2
68634018451. 3
68634018452. 4

Question Number : 14 Question Id : 6863404661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4, 2.7

Options :

68634018453. 1
68634018454. 2
68634018455. 3
68634018456. 4

Question Number : 14 Question Id : 6863404661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4.2.7

Options :

68634018453. 1
68634018454. 2
68634018455. 3
68634018456. 4

Question Number : 15 Question Id : 6863404662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018457. 1
68634018458. 2
68634018459. 3
68634018460. 4

Question Number : 15 Question Id : 6863404662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018457. 1
68634018458. 2
68634018459. 3
68634018460. 4

Question Number : 16 Question Id : 6863404663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018461. 1
68634018462. 2
68634018463. 3
68634018464. 4

Question Number : 16 Question Id : 6863404663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018461. 1
68634018462. 2
68634018463. 3
68634018464. 4

Question Number : 17 Question Id : 6863404664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 6863404664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U@ BICRIE B 3R ST Hd §U - 37 i &1 Hgal § a8 TR a1 & 98 uig &1 9 8 |
BIeITE aIdl dsd! &l 3FT ¥ a1 Rear a2

1. dgd

HedAd 3
RIGIE]]
4. 3T

Options :
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[

L]

Question Number : 18 Question Id : 6863404665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018469.
68634018470.
68634018471.
68634018472.
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Question Number : 18 Question Id : 6863404665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ty B & RIH TR F1 S 1807
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Options :

68634018469.
68634018470.
68634018471.
68634018472.

A W N =

Question Number : 19 Question Id : 6863404666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018473. 1
68634018474. 2
68634018475. 3
68634018476. 4

Question Number : 19 Question Id : 6863404666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018473. 1
68634018474. 2
68634018475. 3
68634018476. 4



Question Number : 20 Question Id : 6863404667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018477. 1
68634018478. 2
68634018479. 3
68634018480. 4

Question Number : 20 Question Id : 6863404667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018477. 1
68634018478. 2
68634018479. 3
68634018480. 4

Question Number : 21 Question Id : 6863404668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. A-IV. B-1, C-II. D-III
4. A-I. B-IV. C-II. D-III

Options :

68634018481. 1
68634018482. 2
68634018483. 3
68634018484. 4

Question Number : 21 Question Id : 6863404668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

=T 1 (T {3 T0r R 1 1) [ 10 (341 8 [R9R)
A [gS g 3 i EEEa]

B. |4t S g 11 [orfee SR FRreqo
C. |4t Tre=ar WHST I11. [Ffder w1

D. [s3d 90— Tad IV, [l

FafaRad o eal © O 9gl SR & 994 DI

1. A-L B-IIL. C-IV, D-TI
2. A-IV, B-1, C-III, D-II
3. A-IV, B-1, C-II, D-III
4. A-I, B-IV, C-II. D-III

Options :

68634018481. 1

68634018482. 2

68634018483. 3
68634018484. 4



Question Number : 22 Question Id : 6863404669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'SHHYE Hedlge P AT &I aRiE

1. 79, 1979
.19 3fUd. 1975

| )

Lad

.19 5. 1953
4,07 U, 1081

Options :

68634018485. 1
68634018486. 2
68634018487. 3
68634018488. 4

Question Number : 22 Question Id : 6863404669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'S Hedge P AT &I aRiE

1. 79, 1979
.19 3fUd. 1975

| )

3. 19 T, 1953
4,07 U, 1081

Options :

68634018485. 1
68634018486. 2
68634018487. 3
68634018488. 4

Question Number : 23 Question Id : 6863404670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S CAIE R AN

@ 1. FHiET SRt & SR O IR P BHs HIad 8id §
B 11 TSeifear Rl & SR Hd IRR & e o nfad gid 81
SWRIFd BYF & 3l H, A1 4T T f[dwedi & I Hel Gov &1 99 Difoie:

1. PYT1 AR I SHT TeT &
2. BYT1 IR 11 ST Tad &
3. BYT 1 Tel 8. A HYF 11 TTad ©

4. BYF 170 ©. AfchT U 11 el &

Options :

68634018489. 1
68634018490. 2
68634018491. 3
68634018492. 4

Question Number : 23 Question Id : 6863404670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP RYE:

B 1. I fqOR & SR AHT TRR & $he gUiad 8l o |

FY 11 TSR [§ARI & SR O IRR & BHs i guifad 8id ¢
SWRIKI HYA & 3fTclie H, A QU Y [deedl & T 98l Gk &1 99 P

1. PYT1 AR I SHT TeT &
2. BYT1 IR 11 ST Tad &
3. BYT 1 Tel 8. A HYF 11 TTad ©

4. BYF 170 ©. AfchT U 11 el &

Options :

68634018489. 1
68634018490. 2
68634018491. 3
68634018492. 4



Question Number : 24 Question Id : 6863404671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

grgIe Yo7 feay &g o mamar sar &2
1. 12T

2. 245
31875
4. 20 U

Options :

68634018493. 1
68634018494 2
68634018495. 3
68634018496. 4

Question Number : 24 Question Id : 6863404671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qrgure Ia7 faay iy foq o s 22

1. 1299

24T
31875
4. 20 U

Options :

68634018493. 1
68634018494. 2
68634018495. 3
68634018496. 4

[ ]

Question Number : 25 Question Id : 6863404672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A.%%ﬁfﬁﬁ:{ 3TN A Wi WU & FEGARI BT aaa wiayfd R 210,000 § 25,000 31E & @1
feran 81

B. YRd & Hafa nT A [dum 91 & Swiiadr! & adam widyfd M1 25,000 9 7 15,000 9f& &34
@I -ofg R 5

C. g1 AT S 3THR S SHIEdR 98 AedeM B 1/6 7d UK 7 81 W d IH1a 3 Hid Hdit AR 8R
D.Tﬁﬁéiﬂ&wm IR TY-dl & o Wiaw 3R 8! Wier ded g |
i< fau Y fdeedl © § 99 Sugad TR &1 99 iy
1. Had A AR B
2.%ad A, C3IRD
3.%ad A.B3RC

4.%dd A, B.C3RD

Options :

68634018497. 1
68634018498. 2
68634018499. 3
68634018500. 4

Question Number : 25 Question Id : 6863404672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A.%%ﬁfﬁﬁ:{ 3TN A Wi WU & FEGARI BT aaa wiayfd R 210,000 § 25,000 31E & @1
feran 81

B. YRd & Hafa nT A [dum 91 & Swiiadr! & adam widyfd M1 25,000 9 7 15,000 9f& &34
@I -ofg R 5

C. g1 AT S 3THR S SHIEdR 98 AedeM B 1/6 7d UK 7 81 W d IH1a 3 Hid Hdit AR 8R
D.Tﬁﬁéiﬂ&wm IR TY-dl & o Wiaw 3R 8! Wier ded g |
i< fau Y fdeedl © § 99 Sugad TR &1 99 iy
1. Had A AR B
2.%ad A, C3IRD
3.%ad A.B3RC

4.%dd A, B.C3RD

Options :

68634018497. 1
68634018498. 2
68634018499. 3



68634018500. 4

Part B: Medical Laboratory Technology

Section Id : 68634094
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340141
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 6863404673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

gpl120 of HIV binds to human

1. CD8 T cells

[ )

.CDA T cells
3. Bcells
4. Macrophages
Options :
68634018501. 1
68634018502. 2

68634018503. 3
68634018504. 4

Question Number : 26 Question Id : 6863404673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ud. . Ot (HIV) Pl gpl20 AFG® I FYai gl
. CDS8 T I
. CD4 T BIDIU
. B BRI
TIPS (& HEBIT)

a—y

[

L]

=S



Options :

68634018501. 1
68634018502. 2
68634018503. 3
68634018504. 4

Question Number : 27 Question Id : 6863404674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Rh Typing is based on the D-Antigen present in:

1. Leucocyte

2

. Thrombocyte

LFS]

. Erythrocyte
4. Lymphocyte

Options :

68634018505. 1
68634018506. 2
68634018507. 3
68634018508. 4

Question Number : 27 Question Id : 6863404674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rh ¥R WITYJT I & SR W B gl
40 FR D] (P TEe)
. fara] (eiwTETge)
TS IR PV (SRYUNEC)
Tty (ferpraTEe)

Options :

68634018505. 1
68634018506. 2
68634018507. 3
68634018508. 4

a—y

[ ]

L]

=S

Question Number : 28 Question Id : 6863404675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'After glycolysis in human. pyruvate is transported into

1. Mitochondrion

[

. Liver

L]

. Spleen
4. WBC

Options :

68634018509. 1
68634018510. 2
68634018511. 3
68634018512. 4

Question Number : 28 Question Id : 6863404675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
014 § IS hIalg g & U, Ulgede ool gl
1. ATSCihlSal
APd
TRl
 Seeg il 4l

Options :

68634018509. 1
68634018510. 2
68634018511. 3
68634018512. 4

| )

L]

e

Question Number : 29 Question Id : 6863404676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The Median of the ....... variable value 48.35.36.40.42,54.58,60.15 18
1.49
2.41
3.45
4.43

Options :
68634018513. 1



68634018514. 2
68634018515.3
68634018516. 4

Question Number : 29 Question Id : 6863404676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FFafetad ot o g &
48, 35, 36, 40, 42. 54. 58. 60, 15

1.49

Options :

68634018513. 1
68634018514. 2
68634018515. 3
68634018516. 4

Question Number : 30 Question Id : 6863404677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Polyacrylamide. Sodium dodcyle sulphate and Acrylamide are chemicals used to

1. Count RBCs

b2

. Enumerate WBCs

3. Estimate the amount of Haemoglobin

e

. Separate protiens, based on molecular weight

Options :

68634018517. 1
68634018518. 2
68634018519. 3
68634018520. 4

Question Number : 30 Question Id : 6863404677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O auHE S, 9ISad SoluEd Yot aul UkhauASsS I9EH & fog v [0 9 51
1. RBC &1 70T

. WBC &I U]

 BIHRGIe B HE BT 3

4. HUgP YR & YR TR UICTH DI JYD Bl

[

L]

Options :

68634018517. 1
68634018518. 2
68634018519. 3
68634018520. 4

Question Number : 31 Question Id : 6863404678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Quantity of Normal daily secretion of Bile Juices is

1.2.6-3.2 litre

[

.0.5-1 litre
3.2.5-35 litre
4.1.5-2.5 litre

Options :

68634018521. 1
68634018522. 2
68634018523. 3
68634018524. 4

Question Number : 31 Question Id : 6863404678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iy 39 &1 9T S Tau & AETE -

L] ot
| ] =
Jh h
§ ]

[ %) [l
3 %ﬂ

4.15-25dcR

Options :
68634018521. 1



68634018522. 2
68634018523.3
68634018524. 4

Question Number : 32 Question Id : 6863404679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

About 90% of human epidermal cells are

1. Keratinocytes
2. Melanocytes
3. Intracpidermal macrophages
4. Tactile epithelial cells
Options :
68634018525. 1
68634018526. 2

68634018527. 3
68634018528. 4

Question Number : 32 Question Id : 6863404679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIa JUD Al BIRIBISH BT 90% U= & -
L Rt

3. 3{d: SYDH AT HEPBI]

| )

=

Options :

68634018525. 1
68634018526. 2
68634018527. 3
68634018528. 4

Question Number : 33 Question Id : 6863404680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Part of the body controls the thermal sweating:

1. SEBACEOUS

b2

. APOCRINE
3. ENDOCERINE
4 HYPOTHALAMUS

Options :

68634018529. 1
68634018530. 2
68634018531. 3
68634018532. 4

Question Number : 33 Question Id : 6863404680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al Wed Bl IRR & T gRT FFafad fear srar g
1. dd

. 3fTat

. 3{cl-dTal

NSRRI GEE

Options :

68634018529. 1

68634018530. 2

68634018531. 3
68634018532. 4

| )

L]

=

Question Number : 34 Question Id : 6863404681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The term 'icteric’ implies
1. A condition pertaining to yellowish pigmentation due to jaundice
2. Low blood pressure

3. High percentage of neutrophils

4. Production of antibodies

Options :
68634018533. 1
68634018534. 2



68634018535.3
68634018536. 4

Question Number : 34 Question Id : 6863404681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Yeg 3R H Algd B
1. diferar & SR did ¥ 9 ST Sawl
g iR =
gt el T G ufawrd
(USTaTSToN) HicReal 1 SdreT

| )

(5]

=

Options :

68634018533. 1
68634018534. 2
68634018535. 3
68634018536. 4

Question Number : 35 Question Id : 6863404682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The breast consists of a number of lobules which are made up of

1. Globular Epithelium

| B

. Peripheral Epithelium
3. Cerebelli Epithelium
4. Columnar Epithelium

Options :

68634018537. 1
68634018538. 2
68634018539. 3
68634018540. 4

Question Number : 35 Question Id : 6863404682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W S50 I afverel (@ A fmeR e e i fe | e e
TAISIeR (TafdeEH) Susd

 URIwRd (iufdeay) Suddr

- Yedd (Unidey) g

 PIER (TUTeam) Juse

Options :

68634018537. 1
68634018538. 2
68634018539. 3
68634018540. 4

a—y

[ ]

L]

=

Question Number : 36 Question Id : 6863404683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The value below which a given percentage of observation occur is called

1. Average

[

. Percentile
3. Mean
4. Sample size
Options :
68634018541. 1
68634018542.2

68634018543. 3
68634018544. 4

Question Number : 36 Question Id : 6863404683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufed 8- ara Heui @t &t i ufdwa @ i &1 9F Feadl 6:
1. 3ga

AP (GRY=<I5d)

| )

[#%]

CHIY

4, FHAT HTHR

Options :



68634018541. 1
68634018542. 2
68634018543. 3
68634018544. 4

Question Number : 37 Question Id : 6863404684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many numbers of bones maxillae bone. mandible bone, palate bone are in the face:

11,2 2

|
]
=
(]

Options :

68634018545.
68634018546.
68634018547.
68634018548.

AW N =

Question Number : 37 Question Id : 6863404684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3ifeyal ot spu: fovat Teean Afayell offfy, AfSea iy, ae sy =g J gidl &:

L1022

| ]
!.J
—
[ ]

Options :

68634018545.
68634018546.
68634018547.
68634018548.

A W N =

Question Number : 38 Question Id : 6863404685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Vimentin is

1. An inhibitor of DNA synthesis

b2

. Not a intermediate filament

L¥ 5]

. Not a component of cytoskeleton
4. An intermediate filament found in cells of mesenchymal origin

Options :

68634018549. 1
68634018550. 2
68634018551. 3
68634018552. 4

Question Number : 38 Question Id : 6863404685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

agAfeT (Vimentin) B
. S1 U9 U U=y & U At
T AEIad! g Tol

. BIYPH] HaHTd BT Udh 9ed ol
AT Ined P DI H T HeA! dg U Sl

ja—y

| )

[#5]

=

Options :

68634018549. 1
68634018550. 2
68634018551. 3
68634018552. 4

Question Number : 39 Question Id : 6863404686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The smallest structural and functional unit of living tissue is:

1. Cell

[ )

. Cell wall
3. Nucleus

4. Nucleolus

Options :
68634018553. 1



68634018554. 2
68634018555.3
68634018556. 4

Question Number : 39 Question Id : 6863404686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Sifdd S0@ &1 Ta9 Blo! Tae® adl B 3@l © -
1. DI
IRt i
-t
4. BiE®I1
Options :
68634018553. 1
68634018554. 2

68634018555. 3
68634018556. 4

[

L]

Question Number : 40 Question Id : 6863404687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Flow cytometry can be used to

1. Count the number of cells

(B

. Multiply DNA

5]

. Digest DNA
4, Stain nucleus

Options :

68634018557. 1
68634018558. 2
68634018559. 3
68634018560. 4

Question Number : 40 Question Id : 6863404687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tal IS BT Ta ¥ a1 5T g g
1. BIRABIS BT AT D1 U]

[

ST U UH

L]

ST T gEA

4. Hgd HHGH

Options :

68634018557. 1
68634018558. 2
68634018559. 3
68634018560. 4

Question Number : 41 Question Id : 6863404688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Mucus secreting columnar epithelium is called

1. Epithelial cells

2

. Epithelium cells

[F5]

. Goblet cells

4, Fibroblast cells
Options :
68634018561. 1
68634018562. 2

68634018563. 3
68634018564. 4

Question Number : 41 Question Id : 6863404688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS T qUl Bl WHG Suddl (gad [ Hiaa-R Tufied) &1 $5d o
1. ydriiferaa Sife
 qdfeRm Sk
TSR DRI

| )

L

4. TISHIART DILH]

Options :
68634018561. 1



68634018562. 2
68634018563. 3
68634018564. 4

Question Number : 42 Question Id : 6863404689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Capsid 13 a structure found in
1. Virus
2. Fungi
3. Protojoa

4. Amoebae

Options :

68634018565. 1
68634018566. 2
68634018567. 3
68634018568. 4

Question Number : 42 Question Id : 6863404689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FySTEWRIeol  HUEISRigl

R (famm)

GG

NI

4. 3fHiEr

a—y

[

L]

Options :

68634018565. 1
68634018566. 2
68634018567. 3
68634018568. 4

Question Number : 43 Question Id : 6863404690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many types of muscles are there in Human body:

1.2

b=
[ 5]

4.4

Options :

68634018569. 1
68634018570. 2
68634018571. 3
68634018572. 4

Question Number : 43 Question Id : 6863404690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHa YRR & fhod UeR ©f SiqufEt o 9l §:

s

I
L]

4.4

Options :

68634018569. 1
68634018570. 2
68634018571. 3
68634018572. 4

Question Number : 44 Question Id : 6863404691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Nuecleoid is a structure that lacks

1. Nuclear membrene

(B

. Hereditary material

[F5]

. Genetic material

4. DNA

Options :
68634018573. 1
68634018574. 2



68634018575.3
68634018576. 4

Question Number : 44 Question Id : 6863404691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PEHFU UG TEAIeol  SlgcHiadigl
EE-CiuIE R

BRI (smaifies) gard

SR (3raife) gard

LT T

ja—y

| )

L

=Y

Options :

68634018573. 1
68634018574. 2
68634018575. 3
68634018576. 4

Question Number : 45 Question Id : 6863404692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Red Cell content of the normal spleen is less than % of the total Red Cell volume:

1. 5%

| B

3%
3. 4%
4. 7%

Options :

68634018577. 1
68634018578. 2
68634018579. 3
68634018580. 4

Question Number : 45 Question Id : 6863404692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I g1 H TIe Jakd HI0h] S AT Sl Iad HI0DI & % BT

1.5%

|

. 3%

L¥ ]

4%
4. 7%

Options :

68634018577.
68634018578.
68634018579.
68634018580.

A W N =

Question Number : 46 Question Id : 6863404693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mitochondria has an outer and an inner membrane. The inner membrane is folded into sheaf-like ridge
called

1. Lysosome

| B]

. Cristae
3. Endoplasmic reticulum

4. Nucleus

Options :

68634018581. 1
68634018582. 2
68634018583. 3
68634018584. 4

Question Number : 46 Question Id : 6863404693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wﬁwmﬁﬁ?wwm%ﬁﬂeﬁ%lm%ﬁwﬂmﬁwﬁﬁ
|

1. AEIH
et

| )

[#5]

TSIt G aH (sa:gedt i)
4, TSP



Options :

68634018581. 1
68634018582. 2
68634018583. 3
68634018584. 4

Question Number : 47 Question Id : 6863404694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Direct Coomb's test 1s used to detect the auto antibodies on the surface of:
1. WBC
2.RBC
3. Platlate

4. Cell wall

Options :

68634018585. 1
68634018586. 2
68634018587. 3
68634018588. 4

Question Number : 47 Question Id : 6863404694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 5 TRIEI0T &7 T 1 gag R WU R &1 ug=ar=+ & fag fear oiar €1

1. Seeqg, ol I
3R, 1. 4t

feTan] (wicde)
4. DIRTHTY (HRT

Options :

68634018585. 1
68634018586. 2
68634018587. 3
68634018588. 4

| )

L

Question Number : 48 Question Id : 6863404695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sigma factor helps the RNA polymerase to have

1. Improved specificity for promoter

[

. Inhibitory activity for synthesis of DNA

LF%]

. Nuclease activity
4. Helicase activity

Options :

68634018589. 1
68634018590. 2
68634018591. 3
68634018592. 4

Question Number : 48 Question Id : 6863404695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R BR® SHR.TA.U. Ui & B/®Rar § 9EU® 5

 THIER & forg SR fafRmy
. S1.UA.U. G2l o TU Hea- idfafd
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Options :

68634018589. 1
68634018590. 2
68634018591. 3
68634018592 4

oy
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Question Number : 49 Question Id : 6863404696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of colour index indicates that the Red cells are bigger n size:
1. More than 1.00
2. Below 0.85
3. More than 1.15
4. Below 0.55

Options :
68634018593. 1



68634018594. 2
68634018595. 3
68634018596. 4

Question Number : 49 Question Id : 6863404696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 Gl 1 DI A T8 SR1d BT § [ AT BIRBTE HHR J T3 © -
1. 1.00 § U
0854 Y

1.15 9 3Hf¥s

[ ]

L]

4,055 HH

Options :

68634018593. 1
68634018594. 2
68634018595. 3
68634018596. 4

Question Number : 50 Question Id : 6863404697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Golgi apparatus carries out

1. Degradation of amino acids

[

. Replication of RNA

L]

. Synthesis of carbohydrates. complex proteins
4. Generation of ATP

Options :

68634018597. 1
68634018598. 2
68634018599. 3
68634018600. 4

Question Number : 50 Question Id : 6863404697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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[

L]

4. ATP [ 3l

Options :

68634018597. 1
68634018598. 2
68634018599. 3
68634018600. 4

Question Number : 51 Question Id : 6863404698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Main sources of energy to body is:

1. Fat

2

. Lipid

3. Protein

=y

. Carbohydrate

Options :

68634018601. 1
68634018602. 2
68634018603. 3
68634018604. 4

Question Number : 51 Question Id : 6863404698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRR & [T FHoll &1 5= 9Id 6
1. g4
fofus

Options :



68634018601. 1
68634018602. 2
68634018603. 3
68634018604. 4

Question Number : 52 Question Id : 6863404699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A commonly used fixative i histopathology is

1. Formalin

o

2. Ethidium bromide

5]

. Crystal violet
4. Iodine

Options :

68634018605. 1
68634018606. 2
68634018607. 3
68634018608. 4

Question Number : 52 Question Id : 6863404699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3d® I fag= & arargar wan feu o arar wEieR (haafea) §:

1. BTHAH

fohed draeie
4. AATSH

Options :

68634018605. 1

68634018606. 2

68634018607. 3
68634018608. 4

| )
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Question Number : 53 Question Id : 6863404700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Amino Acid has melting point of about:

1. 200° 300° C

2

. 150°-200°C
3.50° 100°C
4, 250°- 300° C
Options :
68634018609. 1
68634018610. 2

68634018611. 3
68634018612. 4

Question Number : 53 Question Id : 6863404700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3fiAT 3t T e fag AL BT |

1. 200°- 300° C

| )

. 150°-200° C
3.50° 100°C
4. 250°- 300° C
Options :
68634018609. 1
68634018610. 2

68634018611. 3
68634018612. 4

Question Number : 54 Question Id : 6863404701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
SARS-CoV-2 can carry out its binding to host cell using
1. DNA binding protein
2. Vitamin
3. Mitochondria

4. Angiotensin Converting Enzyme-2 (ACE-2) receptor

Options :
68634018613. 1



68634018614. 2
68634018615. 3
68634018616. 4

Question Number : 54 Question Id : 6863404701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SARS-CoV-2 &1 WA S Ut SIfeT § 44 urdr g
1. SL.EA.U 9 HieH
2. faerfim

3. gigcialal
4. TR Seaaddl TolgH-2 (ACE-2) IT6!

Options :

68634018613. 1
68634018614. 2
68634018615. 3
68634018616. 4

Question Number : 55 Question Id : 6863404702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Mineral used for synthesis of thyroid hormone 1s:

1. Potassium
2. Iron
3. Iodine
4. Sodium

Options :

68634018617. 1

68634018618. 2

68634018619. 3
68634018620. 4

Question Number : 55 Question Id : 6863404702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YRRIZS BTHI SN0 & [T Ty 81 a1 @i 6
1. UieRmm
SIRA
3. s H
4. OifsTH
Options :
68634018617. 1
68634018618. 2

68634018619. 3
68634018620. 4

[

Question Number : 56 Question Id : 6863404703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Cytokines include the molecules

1. Interleukins

[ )

.RNA
3.DNA
4. Antibodies
Options :
68634018621. 1
68634018622. 2

68634018623. 3
68634018624. 4

Question Number : 56 Question Id : 6863404703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UgdleEd § 310] Afferd g1
1. T b
R.TE.T

| )
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 UcIaTe i wiorealt

Options :
68634018621. 1
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68634018622. 2
68634018623.3
68634018624. 4

Question Number : 57 Question Id : 6863404704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In 1882, Bacillus of which disease was discovered by Robert Koch:

1. Tuberculosis

[

. Cholera
3. Vibrio
4. HIV

Options :

68634018625. 1
68634018626. 2
68634018627. 3
68634018628. 4

Question Number : 57 Question Id : 6863404704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1882 . IG< P19 gRI b A7 & Sl B @ISl 85
1. dufee ()

2. B9 (BIeRT)
3. fafgsn

4. TF. SOl

Options :

68634018625. 1
68634018626. 2
68634018627. 3
68634018628. 4

Question Number : 58 Question Id : 6863404705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Antigen presenting cells include

1. B cell only

b2

. Macrophages and dendritic cells

3. FBCs

e

. T lymphocytes

Options :

68634018629. 1
68634018630. 2
68634018631. 3
68634018632. 4

Question Number : 58 Question Id : 6863404705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UEIoH wdhe vl SIfRpTsi ¥ aftfed &
1. B BIfAHT el

| )

. g83 H&PBIY] 3R SHIPIID (SgEicd) DIRDI
3R, o1
. T T

Options :

68634018629. 1
68634018630. 2
68634018631. 3
68634018632. 4
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Question Number : 59 Question Id : 6863404706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Slope culture is known as:

1. Roll tube culture

[ )

. Slant culture

Lad

. Deep culture

4, Stab culture

Options :
68634018633. 1



68634018634. 2
68634018635. 3
68634018636. 4

Question Number : 59 Question Id : 6863404706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WY adH @1 59 A1 9 1 oE1 o B
]I ogd HatA
e gadH
TTE HaeH
4. g HadH
Options :
68634018633. 1
68634018634. 2

68634018635. 3
68634018636. 4

fa—y
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Question Number : 60 Question Id : 6863404707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The bacterium Shigella 1s

1. A circular bacterium

[

. Gram positive

LF%]

. Not infectious and has a nucleus
4. Gram negative and facullative anaerobe

Options :

68634018637. 1
68634018638. 2
68634018639. 3
68634018640. 4

Question Number : 60 Question Id : 6863404707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018637. 1
68634018638. 2
68634018639. 3
68634018640. 4
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Question Number : 61 Question Id : 6863404708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Immunity which is transfered from one generation to another generation is:

1. Passive Immunity

[ )

. Active Immunity
3. Natural Immunity
4. Acquired Immunity
Options :
68634018641. 1
68634018642. 2

68634018643. 3
68634018644. 4

Question Number : 61 Question Id : 6863404708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ag HicoRe ol s tiel 3 gurt Uidl & gxaiaia &1 il g1, &:
1. fAfspg ufdren
. fshy yicRan
T iciep UfaRal
4. S{fTd UlcREn

Options :
68634018641. 1
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L



68634018642. 2
68634018643.3
68634018644. 4

Question Number : 62 Question Id : 6863404709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Widal test 1s used to detect the infection by bacterium called

1. Proteus

[ ]

. Salmonella
3. Clostridium
4. Staphylococus
Options :
68634018645. 1
68634018646. 2

68634018647. 3
68634018648. 4

Question Number : 62 Question Id : 6863404709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[arSTel URlefur &7 WaRT 59 SiaT] gRT [T 71T YehHul & Ugd & [ad fdsan oirdl &:
1. Uifeay
 HIH
FaricfeaH

-~
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4, Il

Options :

68634018645. 1
68634018646. 2
68634018647. 3
68634018648. 4

Question Number : 63 Question Id : 6863404710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frozen section is used to demonstrate Inclusion:

—

. Lipid

b2

. Glucogen
3. Pigments
4. Secretory granules

Options :

68634018649. 1
68634018650. 2
68634018651. 3
68634018652. 4

Question Number : 63 Question Id : 6863404710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST 3T 35 (PIC) BT WanT HHIAR B UaRid P & [ag a1 S 3
1. fefs

T
auf

 HAUPRT (Agad BUI)

Options :

68634018649. 1
68634018650. 2
68634018651. 3
68634018652. 4
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Question Number : 64 Question Id : 6863404711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Icosahedral capsid is a term associated with

1. Bacteria

[ B

. Virus
3. Fungi

4, Protozoa

Options :
68634018653. 1



68634018654. 2
68634018655.3
68634018656. 4

Question Number : 64 Question Id : 6863404711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FAfREd & ¥ & H-91 Weg "HE P Mo ed Piays” I oS gl
1. Sifary

. aigRy

[

3. PaD
4, UTETSII3T

Options :

68634018653. 1
68634018654 2
68634018655. 3
68634018656. 4

Question Number : 65 Question Id : 6863404712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fixative used for the fixation of Embryo is:

1. Zenker's flud

b2

. Hellu's fhud

L¥ 5]

. Bovin's fluid
4. Gender's flud

Options :

68634018657. 1
68634018658. 2
68634018659. 3
68634018660. 4

Question Number : 65 Question Id : 6863404712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YU & RIRIHRN & (T8 BT ISR &1 HaFT a1 ofrdl 57
1. ST R

2. 5q Rd
3. difd9 dRa
4. OSY dRd

Options :

68634018657. 1
68634018658. 2
68634018659. 3
68634018660. 4

Question Number : 66 Question Id : 6863404713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Clearing process is done after dehydration to make tissue transparent and for the embedding of
tissue with paraffin.

Reason R: Xylene 1s a colourless most commonly used clearing reagent.

In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R 1s NOT the correct explanation of A
3. A s true but R is false

4. A is false but R is true

Options :

68634018661. 1
68634018662. 2
68634018663. 3
68634018664. 4

Question Number : 66 Question Id : 6863404713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 &l YA (AU T §, Ud SH@HYT (Assertion A) P &9 1 R & ol GHRT 39 BRI (Reason R) &
g H:

SHTUBUT A: s/ T Uieha] @ & B SaH B UGl &4 & 8 aUl Ha® & GRIea 3 3id:
QG (TS) & oW &1 ot § |

PRI R: TS TToH &, auT femad Ta Ted Hiieis §

SRI DY & HTalid 1, H1d 2y 7Y fdeedi T I 99 Sugad SR &1 99 B
1. A SR R 3 961 € AR R. A Pl Tel AR §

A SRR M U6l § SRR, A DI Hel oA 761 &

AT AGTR IR TSR

4, ATEI TR S AT R WSl &

Options :

68634018661. 1
68634018662. 2
68634018663. 3
68634018664. 4

b2

L]

Question Number : 67 Question Id : 6863404714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason E.

Assertion A: Haemoglobin and Red Blood Cells are below their normal values then condition 1s known as
Anemia.

Reason R: The anemia is common it occurs due to deficiency of iron in body, in lab finding Hb value 13
decreased.
In the light of the above statements, choose the most appropriate answer from the options given below.
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R 1s NOT the correct explanation of A
3. A1s true but R 1s false
4. A is false but R is true
Options :
68634018665. 1
68634018666. 2

68634018667. 3
68634018668. 4



Question Number : 67 Question Id : 6863404714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 & YA AU 0 §, UF AU (Assertion A) P &9 1 ARG & T GHR1 3% BRI (Reason R) &
g H:
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BRI R: IGICHAT G § U8 TRR J 15 @ 4T T 81T 8. 99 BrefeT I Hb BT HH Ul §of 8
SRI DY & HTalid 1, H1d 2y 7Y fdeedi T I 99 Sugad SR &1 99 B
1. A SR R 3 961 € AR R. A Pl Tel AR §
2. A SR R G U8l § 3R R. A DI Hel oI 6l &
3. ATSI R O R TR
4 ATEI TS g APTIR TS &
Options :
68634018665. 1
68634018666. 2

68634018667. 3
68634018668. 4

Question Number : 68 Question Id : 6863404715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: LE cells appear as neutrophils containing a large spherical body in their cytoplasm.

Reason R: LE cells appear as basophils contamning a large spherical body in their cytoplasm.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2

. Both A and R are true and R 1s NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

Options :

68634018669. 1
68634018670. 2
68634018671. 3



68634018672. 4

Question Number : 68 Question Id : 6863404715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HYA AU U §, UF @Y (Assertion A) P =9 [Ed § T g8 39% BRI (Reason R) &
0T

HTUBUT A: L E DI . LIl 1 e UPe sldl § [o19d HIRID] 500 H U g9 MATPR P 6
BRI R: L E HIRSHT SHIHT B 038 HHE Il 3 (o DI1PI 560 H U Fo! MATHR AP 5
SWRIGI BYH & H1ciid H, i f3U U fdsedi T I 9 Sugad SR &1 94+ S

1. A 3R R 31 91 § SRR, A P! Hel URAT &

2. A SR R I W8T € SR R, A T Ot o el §

3 ATSI R TR TR IS

4 AGEI TR AP R WET ®

Options :

68634018669. 1
68634018670. 2
68634018671. 3
68634018672. 4

Question Number : 69 Question Id : 6863404716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
" - . o "
Assertion A: The area of the Neaubauer chamber 1s 9mm* and depth 1s 0.2 mm.

Reason R: The area of the Neaubauer chamber is 9mm® and depth is 0.1 mm.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true but R 18 NOT the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :
68634018673. 1



68634018674. 2
68634018675. 3
68634018676. 4

Question Number : 69 Question Id : 6863404716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 & YA AU 0 §, UF AU (Assertion A) P &9 1 ARG & T GHR1 3% BRI (Reason R) &
g H:

TYPYUT A: €= TR Bl SFAHE 0 mm? TUT R IR é 0.2 111111%|

PRI R: AEIIR TR BT &FH 0 mm? IUT TES 0.1 mm B
SWRIGd BYH & HTaile |, i< f3U U fdsedi T I 9 Sugad 3wk &1 99 S
1. A SR R I 961 § 3R R, A DI Tel ARAT &
2. A SR R I W8T € SRR, A T Ot o el §
3 AT R PR TR IS
4 AT TR g dAfbTR TET ©

Options :

68634018673. 1
68634018674. 2
68634018675. 3
68634018676. 4

Question Number : 70 Question Id : 6863404717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Mycobacterium can survive in macrophages of lungs of human.
Reason R: Mycobacterium can prevent the fusion of phagosome and lyposome in the macrophages of human
lungs.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true and R is NOT the correct explanation of A

3. Ais true but R is falze

4, A is false but R is true



Options :

68634018677. 1
68634018678. 2
68634018679. 3
68634018680. 4

Question Number : 70 Question Id : 6863404717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gl YA AU T §, U SHIUDHUA (Assertion A) P & H [H1REd ¢ Al gERT 39 BRI (Reason R) &
U

-

HIUBYT A: THd DUHE H gga Y& H HighlaacRyH Sifdd 36 ¥odi g

PRI R: TFd PFHY H g5 Y& H HIgd e RU Aigdibs ayl Bk ol fded s Gl g
SWRIE Y & 3Tclie H, i fu Y fdeedl § 9 968 3uged SR &1 904 SIfeT:
1. A R R 3 981 € AR R, A D! &I RS B
A SRR M 6§ AR R. A D el R 81 §
AT AR TH AL
AT TS g APTIR TS ©

Options :

68634018677. 1
68634018678. 2
68634018679. 3
68634018680. 4

[ ]

Laa

=y

Question Number : 71 Question Id : 6863404718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Bacillus can form spores that aid in survival in unfavourable conditions.

Reason R: Salmonella has an outer membrane.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. Ais true but R is false

4. A is false but R is true

Options :

68634018681. 1
68634018682. 2
68634018683. 3
68634018684. 4

Question Number : 71 Question Id : 6863404718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 & YA AU 0 §, UF AU (Assertion A) P &9 1 ARG & T GHR1 3% BRI (Reason R) &
g H:

STUTYT A: SHTH TR (SS0]) T4 Tl § ol Wiodd IRl # sifdd 36+ @ 980 o |
HRVT R: SIH 1 TP S16 (i1 il 8
SWRIGI Y & 3HTaild 1, H1d 3y 7Y fdeedi T I 96 Sugad SR &1 99 B
1. A SR R 3 981 € AR R. A Pl Jgl AR 8
A 3R R Ml U6l § SRR, A D el oURSAT 761 &
AT AGTR IR TSR
4, AEI TR S AT R WSl &

Options :

68634018681. 1
68634018682. 2
68634018683. 3
68634018684. 4

b2

L]



Question Number : 72 Question Id : 6863404719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Gram positive bacteria have a promment layer that surrounds the cells. called Peptidoglycan.

Reason R: Gram negative bacteria have outer membrane that contains lipids and proteins.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R 1s NOT the correct explanation of A

3. Ais true but R is false

4. A is false but R is true

Options :

68634018685. 1
68634018686. 2
68634018687. 3
68634018688. 4

Question Number : 72 Question Id : 6863404719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HYA AU U §, UF @Y (Assertion A) P =9 [Ed § T g8 39% BRI (Reason R) &
0T

#wgg:wwmﬁﬁwwwﬁ%ﬁmﬁﬁﬁ%wﬁm
HEa gl

ST R: TH BUTHS Siiar0] H U aT-] URd Bidl & forad fAfis qui e gid 5 |
QRIS BYH & HTclid 1, A1 f3U U fdsedi T I 9 Sugad STk &1 94 S
1. A 3R R I 91 § SRR, A P! He! URAT &
2. A SR R I W8T € SR R, A &1 Ot o el §
3 AT R PR TR IS
4. AGEI TR AT R WET ®

Options :
68634018685. 1
68634018686. 2




68634018687. 3
68634018688. 4

Question Number : 73 Question Id : 6863404720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct order steps for Erythrocyte Sedimentation Rate protocol needs be determined

A. Westergren tube is allowed to stand stationary with blood sample for 1 hour.

B. The collected blood 1s taken in Westergren tube

C. Blood sample 1s taken from vein in anticoagulant tube

D. The settled RBCs are observed the level of the dark red liquid 1s observed in mm.

Choose the correct answer from the options given below:
LABCD
2.A.C.B,D
3.C.B.A.D

4.D.C.A.B

Options :

68634018689. 1
68634018690. 2
68634018691. 3
68634018692. 4

Question Number : 73 Question Id : 6863404720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

efTel ¥ HI0ThT b UG S ICIhld & UR Yl hH H Hdieyd Hifo:

A 9T el B Jad AT 1 92T R g1 & ferg Ta1 S g

B. Gufed Yad & ey A & ferar sar g

C. U UEI SIurgei il § fRRT Y Iad &1 AT forn <irdl g |

D. 3fauried m.dt . &1 U forar Srar &, T8 ard oid &1 &R mm 5 U& a1 Jrar g1

i fau 0 f[daredl | ¥ Uel 3R &1 904 Siig;

1.AB.C.D

2Z.ACB,D

3.C,B.AD

4 D.C.A.B
Options :

68634018689. 1
68634018690. 2



68634018691. 3
68634018692. 4

Question Number : 74 Question Id : 6863404721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correct order of steps in Western Blotting needs to be determined.

A. Loading of protein in the wells of polyacrylamide gel

B. Enhancement of polymerization of gel and cross linking of Aerylamide and Polyacrylamide
C. Transfer of protein to nitrocellulose with the help of electric current

D. Carrying out sodium dodecyl sulphate-polyacrylamide gel electrophoresis

Choose the correct answer from the options given below:
1.B.A.D.C
2.C,A.D,B
3.B.A.C.D

4. A.B,C.D

Options :

68634018693. 1
68634018694. 2
68634018695. 3
68634018696. 4

Question Number : 74 Question Id : 6863404721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e sdifeT o =Rl @] el o H oudid HIfT:

A UTdll UBIS@HISS oid & ad H W &1 YR (@Is)

B. Uit] & Sgelh [ Ul B §gcR DA qUl UshTgdl THIZS Ul Ulell UshIgd UHTSS H i IS
C. UIZH &1 Aiggiegeiisl H §&iicR UL, YRT YUTg &1 Fgradl d

D. HIf$TH SHIgd ebbe Uleiuhigd UHISS W Sadih R &1 ag- &l

s,

i fau 0 f[daredl | U Uel 3R &1 904 Big;

LB ADC
2.C,A.D.B
3 BACD
4 A B.C.D

Options :
68634018693. 1



68634018694. 2
68634018695. 3
68634018696. 4

Question Number : 75 Question Id : 6863404722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the citric acid cycle. a number of reactions are involved. The correct order needs to be determined

A. Conversion of fumarate to malate

B. Production of u-ketoglutarate from Isocitrate
C. Production of Oxaloacetate from Malate

D. Synthesis of Isocitrate from Citrate

Choose the correct answer from the options given below:
LA B D,C
2.D.C.B.A
3.D,BAC

4. A.D.B.C

Options :

68634018697. 1
68634018698. 2
68634018699. 3
68634018700. 4

Question Number : 75 Question Id : 6863404722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sl 3 sk 1, s AHIHUTd FIHferd 8. 576 ulcd 8 & el oA H Syaieyd Bifeg:

A. TIIRC 1 Hele 0 g

B. HISHMIECC U o-PICHTCRE DT IdIG
C. e ¥ e aiggice &1 3dmed

D. [¥¢e 9 AEHIRice &1 G2yl

A fau 7Y fawedt # 9 Tel 3R &1 90 Sifig:

1. AB.D.C

22D E. BLA
3.D.B.AC
4 ADB.C

Options :



68634018697. 1
68634018698. 2
68634018699. 3
68634018700. 4

Question Number : 76 Question Id : 6863404723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The steps for cloning of gene need to be arranged proper order

A. Restriction digestion of gene and the plasmid

B. Identification of gene and amplification of gene by polymerase chain reaction
C. Ligation of digested gene with digested plasmid

D. Preparation of competent cells and transformation of cells with ligated DNA
E. Confirmation of cloning by PCR with the products of ligation.

1.B.A.C.D.E
2.AB,C.D.E
3.y HAAB G
4.D.E.B.C.A

Options :

68634018701. 1
68634018702. 2
68634018703. 3
68634018704. 4

Question Number : 76 Question Id : 6863404723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SH FAT & =ROT 1 Wel oA H oqafyd Sifon:

A. S quT wiifers &1 wfddftd =

B. SiIF &1 UgdH quT giferiea Saar {fifesar 3 offF &1 vae=

C. UIiId @feHs & A1 i it &1 Ss-1

D. H&H DITAHT DI TR U1 T[S Y S1.UA.U. & HY DI SRl
E. U181 3R, & gRI ASI9H (SS) & TGl §RT Tl &I gfy

A feu 7Y fawedt # 9 Tel SR o1 90 S

1.BACDE

[ ]

LA CIE

3.D.E.A,B.C

4. D, E,B,C,A



Options :

68634018701. 1
68634018702. 2
68634018703. 3
68634018704. 4

Question Number : 77 Question Id : 6863404724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s correct sequence of coagulation?

A. Formation of "Fibrin Plug" or the Final Clot
B. Actrvation of the coagulation cascade

C. Formation of temporary "Platelet Plug"

D. Constriction of the blood vessel

Choose the correct answer from the options given below:
1.D.B.A.C
2: B G Dy A
3.C.D.B.A

4.D,C.B. A

Options :

68634018705. 1
68634018706. 2
68634018707. 3
68634018708. 4

Question Number : 77 Question Id : 6863404724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Whe B Hel HH o 67

A "BTSIEH T 41 S{fdH YT 941
B. W 99 &1 HichgHh ol

C. “fawam @ 1 SR Faf
D. 31eR aleed! &1 A

A fau 7Y fawedt # 9 Tel 3R &1 90 Sifig:

1B B.AC

b2

B AETA
3.C.D.B.A
4.D.C.B.A

Options :

68634018705. 1
68634018706. 2
68634018707. 3
68634018708. 4

Question Number : 78 Question Id : 6863404725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following steps are taken for the tissue processing in histopathological lab:
A, Clearing
B. Dehydration

C. Infiltration & Impregnation
D. Fixation

Choose the correct answer from the options given below:

1.D.B.A.C
22AB.D.C
3.C.DLAB
4.B.A.C.D

Options :

68634018709. 1

68634018710. 2

68634018711. 3
68634018712. 4

Question Number : 78 Question Id : 6863404725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

FABATSD WHITRNEl § Sad didar & fau g = feed oid 8, suafauda i

A fdem

B. feidigw

C. 3tk WeH Ul TU=IdHRT
D. [ERI&I

i fau 0 f[daredl | U Uel 3R &1 904 Big;

LB B.AC

b2

A B.D,C
3CCDAB
4 B.A.C.D

Options :

68634018709. 1
68634018710. 2
68634018711. 3
68634018712. 4

Question Number : 79 Question Id : 6863404726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following parts of human lymphatic system from up to down in correct order :

A Tonsils

B. Adenoids

C. Thymus

D. Spleen

E. Pelvic lymph nodes

Choose the correct answer from the options given below:

LADECB

b2

BALBIDLE
3CCEA DB
4. B.A.C.D.E

Options :

68634018713. 1
68634018714. 2
68634018715. 3
68634018716. 4



Question Number : 79 Question Id : 6863404726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HFd TRIHT & U &l FHUR U Ad & HH H daild Hifo:

A CId
B. UeA10sY

C. YlgHyg

D. Wiel
E. Ufeas arddier dddi

i fau 0 f[daredl | U Uel 3R &1 904 Siiu;

1.LADECBE

PATH LRV 5 1R 1 B
3 CCELADB
4.B.A.C.,D.E

Options :

68634018713. 1
68634018714. 2
68634018715. 3
68634018716. 4

Question Number : 80 Question Id : 6863404727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Lipase belongs to the enzyme class lyases.

Statement II: GGT enzyme level becomes very high in the case of obstruction jaundice.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement [ and Statement II are incorrect

3. Statement I 15 correct but Statement IT is incorrect

4, Statement [ 1s incorrect but Statement II is correct

Options :

68634018717. 1
68634018718. 2
68634018719. 3



68634018720. 4

Question Number : 80 Question Id : 6863404727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 3l By fGU U
PYF1: A0 TAsH & A5y o J 9T o
®Y II: GGT UHIsH aidea Qisd (siaxidl yiferm) I agd wurel gl @l g |
SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:
1. FYF RIS T &
2. BYF1 IR 11 ST AT

3. PU 1 UA €. A S 11 3T ©

4 PYTI IR, AT P I Ta B

Options :

68634018717. 1
68634018718. 2
68634018719. 3
68634018720. 4

Question Number : 81 Question Id : 6863404728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In friedewald equation for caleulating VLD2-VLDL mg/dI=TG/5

Statement II: In friedewald equation for calculating VLD2-VLDL mg/dI=TG/3

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

| B

. Both Statement [ and Statement II are incorrect
3. Statement I 15 correct but Statement IT is incorrect

4, Statement [ 15 incorrect but Statement II is correct

Options :

68634018721. 1
68634018722. 2
68634018723. 3
68634018724. 4



Question Number : 81 Question Id : 6863404728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- gl YA f[Gu T &
YA I: ITSdes JHIHRU H vLD2 Bt T0HT & &8 VDL mg/di=TG/5
YA II: WIgsdes YHIHI0 § VLD2 HI TUHI & (6T VLDL me/dI=TG/3
SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:
1. HYTI IR IS TT S
2 Y AR I AT 3T

3. PYT I 9 . Al PUT I 3T o

4 PYTI IR, AT P I Ta B

Options :

68634018721. 1
68634018722. 2
68634018723. 3
68634018724. 4

Question Number : 82 Question Id : 6863404729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Acid phosphatase estimation is done in the disease related to Thyroid.

Statement II: Cerebrospinal fluid samples are collected by physician.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement [ and Statement II are incorrect

3. Statement I 15 correct but Statement IT is incorrect

4, Statement [ 1s incorrect but Statement II is correct

Options :

68634018725. 1
68634018726. 2
68634018727. 3
68634018728. 4



Question Number : 82 Question Id : 6863404729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy fRRumuE:

BYF 1: 3 BBy Ha- UiNgs I grafad 307  fear aar gl

®Y I1: YA YIS did 49 [Hibd® gRI USHd [ A g |

SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:
1. YIRS Td &
2. B 1 IR 11 AT ST §

3. PYT I 9 . Al PUT I 3T o

4 PYTI IR, AT P I Ta B

Options :

68634018725. 1
68634018726. 2
68634018727. 3
68634018728. 4

Question Number : 83 Question Id : 6863404730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The Heart is inferior to the clavicle.

Statement II: Cardiac output is heart rate multiplied by stroke volume.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement IT is false

4, Statement [ 1s false but Statement II is true

Options :

68634018729. 1
68634018730. 2
68634018731. 3
68634018732. 4



Question Number : 83 Question Id : 6863404730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy fRRumuE:

YT I: a0 wifded 4 A g siar gl

HY IL: BISUS TS eYe, aUd T EKIP I gl

SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:
1. YIRS Td &
2. B 1 IR 11 AT ST §

3. PYT I 9 . Al PUT I 3T o

4. BYT TS, AP TP I &

Options :

68634018729. 1
68634018730. 2
68634018731. 3
68634018732. 4

Question Number : 84 Question Id : 6863404731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Streptococcus pneumoniae causes pneumonia

Statement II: Salmonella 1s a Gram negative bacterial pathogen.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement IT is false

4, Statement [ 1s false but Statement II is true

Options :

68634018733. 1
68634018734. 2
68634018735. 3
68634018736. 4



Question Number : 84 Question Id : 6863404731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 3l By fGU U
®Y I: WU IBIHH a1 I glar g |
®Y I1: FIGHHAT U AH HBUTHD Siar] I 9D 6|
SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:
1. FYF RIS T &
2. BYF1 IR 11 ST AT

3. PYT I 9 . Al PUT I 3T o

4 PYTI IR, AT P I Ta B

Options :

68634018733. 1
68634018734. 2
68634018735. 3
68634018736. 4

Question Number : 85 Question Id : 6863404732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Alpha ketoglutarate is produced by the action of Isocitrate dehydrogenase.

Statement II: Phosphofructokinase is an enzyme that aids in the occurance of glycolysis.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement IT is false

4, Statement [ 1s false but Statement II is true

Options :

68634018737. 1
68634018738. 2
68634018739. 3
68634018740. 4



Question Number : 85 Question Id : 6863404732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RS sy RRumuE:
®Y I: UeHI-DICICRE SSHMEISCE Slelegio-d @l [ohdl gRI SdIidd gial g |

BYF I1: BB A HISd Uh UagH ¢ ol [Wigdias ey & gfed 84 & Ig/ad &dl o
SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:

1. PYF 1 AR 11 GH 9 &

2. BY 1 R 11 ST 3T §

3. PYT I 9 . Al PUT I 3T o

4. BYT TS, AP TP I &

Options :

68634018737. 1
68634018738. 2
68634018739. 3
68634018740. 4

Question Number : 86 Question Id : 6863404733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Collagen is a fibrous protein.

Statement II: Hydroxyprolyl and hydroxylysyl residues are never seen in collagen.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement IT is false

4, Statement [ 1s false but Statement II is true

Options :
68634018741. 1
68634018742. 2



68634018743.3
68634018744. 4

Question Number : 86 Question Id : 6863404733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR HERumE:
HYF L DIcior TP qqid UieH g
FUF II: TS A d aul SIS Sauasiad afky FHideH § it 76 38 T
SWRIdd ®YF & 3faid J, 1= f[3u T fadwedi & I Fel 3ok &1 99 DIfWt:
1. HU 1 IR G TT &
YA 1 IR 11 ST ST §

PYTI A S, Alh PUTII T &

2

Lag

PYTI A T, AP B I T ©

=

Options :

68634018741. 1
68634018742. 2
68634018743. 3
68634018744. 4

Question Number : 87 Question Id : 6863404734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Read the following statement:

A There 1s Antigen -A on the surface of RBC of a person the blood group 1s -A

B. In Azoospermia no dead or alive sperm seen

C. If there 1s antigen-A on RBC of a person then his serum contam Anti-A Antibody
D. Cells formed i the liver are called to be exlubiting myeloid stage

Choose the correct answer from the options given below:
1. C and D only
2. B and C only
3. Aand B only

4. D and A only

Options :
68634018745. 1
68634018746. 2



68634018747.3
68634018748. 4

Question Number : 87 Question Id : 6863404734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiad y=l o1 egde ufeu

A T7E forelt oafdd & SRl 3l &1 R R UideH (Ueo) A SUfYd § O SUPI a0 98 AT
B. U HaT ®1% Jd a1 Shfad IEp1] el faadl
c. ofe fol ofdad & oR dl I, IR Uleo A § @1 39 IRH H ufd-A ufreft (72 A T ars) FAfga

1).ElngiiﬁﬁiTgﬁfzﬁﬂinaiﬁiIﬂtﬁﬂT€ﬁ§~3ﬁ5?uTEI¥ﬁéﬁ§?
i f4U 77U fawedl § 9 el SR &1 99+ Hifulu:
1. %ad C 3R D
2. PaAB AR C
3.%ad A IR B
4.%ad D 3R A
Options :
68634018745. 1
63634018746, 2

68634018747.3
68634018748. 4

Question Number : 88 Question Id : 6863404735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Read the following statements:

A. Platelets contain low concentration of 7 HT
B. Melanimn 1s the pigment of skin hair and eye
C. The largest amount of serotonin 1s synthesized in the mntestinal cells
D. Serotonin is regarded as a happiness hormone
Choose the correct answer from the options given below:
1. A.D. C only
2.B.C.Aonly
3.D.A B only
4.B.C.D only

Options :



68634018749. 1
68634018750. 2
68634018751. 3
68634018752. 4

Question Number : 88 Question Id : 6863404735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Fafeiead syl o1 eFgds ulgu:
A. feramoei (@edew) § 7 BT 91 Ry igargid @
B. HaifaH @, @1 g 3ifai @1 avie (=) @

C. YA &1 Gad ¥ O Siidl Sf Il ¥ Gxafid ghdl o
D. Y 1 |l &1 g1H= Yl Feroldi g

i fau 0 f[daredl | U Uel 3R &1 904 Big;
1. $aaA.D. C
2. $au B. C. A
3.$hdd D.A. B

4. FAAB.C.D

Options :

68634018749. 1
68634018750. 2
68634018751. 3
68634018752. 4

Question Number : 89 Question Id : 6863404736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Read the following statement:

A. Fallopian tubes are also called oviduct
B. The other name of Skeletal muscles tissue is Involuntary muscles
C. Eggs released by Graffian follicle reaches to oviduct
D. Cranium is formed by 7 bones.
Choose the correct answer from the options given below:
1. D and B only
2. Aand D only
3. Aand C only

4. B and D only



Options :

68634018753. 1
68634018754. 2
68634018755. 3
68634018756. 4

Question Number : 89 Question Id : 6863404736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 fou U ST BT eFgds ufeu

A. Traifoae e &1 sisarfe-t Afae Jt wea €

B. P0G BT Ha® &1 GERI A Hfws® Argusi §

c. Iftha gfesT gR1 Mifd far mar sism) (3idisae) s anfeit Afee & ugadi 3
D. hiaq 7 Tl I faeR s a8

i f4U 77U fasedl § 9 98l SR &1 99 St

1. Pad D AR B
2. FTAARD
3. HIAA AR C
4. HTAB IR D

Options :

68634018753. 1

68634018754, 2

68634018755.3
68634018756. 4

Question Number : 90 Question Id : 6863404737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the following statement:

A Iron is stored in tissues in the form of ferritin

B. Iron is stored in the tissues in the form of Haemoglobin
C. Aggregates of ferritin form Haemosiderin

D. Iron is not required for proper oxygen uptake by the body

Choose the correct answer from the options given below:
1. A and B only
2. AB and D only
3. Aonly
4. A, B and C only
Options :
68634018757. 1
68634018758. 2

68634018759. 3
68634018760. 4

Question Number : 90 Question Id : 6863404737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafefad oyAl & ufleu:
A, W8 (3TA) I & BRI S =y d ulga siar e
B. TIg (310RA) 3! § garqifed & U d guRRd glar e
C. B & Uo grsia ad &
D. TR §RT G T80 - & folU 3R &I 1agadl ol sl
i feu 7Tt fawedl © § el STR &1 997 Fiult:
1. Had A IR B
2. $ad AB 3R D
3. A0 A

4. HBAAA. BARC

Options :

68634018757. 1
68634018758. 2
68634018759. 3
68634018760. 4

Question Number : 91 Question Id : 6863404738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

During growth of bacteria, which of the following statements are correct?

A. Bacteria exhibit lack of inerease in number during lag phase
B. Bacteria multiply rapidly in exponential phase

C. Bacteria do not divide by binary fussion

D. Bacteria are not prokaryotes and they have gametes

Choose the correct answer from the options given below:
1. A only
2. B only
3. AAnd B only
4. C only
Options :
68634018761. 1
68634018762. 2

68634018763. 3
68634018764. 4

Question Number : 91 Question Id : 6863404738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST (SHaT) B 3 & SRA. 5 § I S -9 $UF 981 57

A. ST Uy WTaRA & SRE S | i T S Ve &3d §
B. 3311 IRUMI® a1 F il J 07 B3 &
c. Saifea fgdsa @gd) fewm) gR faufoid el e &
D. SERIRAT (STam) Wb 76l 8 9Y1 3% U gHE ©
i fqu 7Tt fosedl § 9 981 3R &1 994 Sifo:
1. dhdd A
2. S B
3. Hadd A 3RB

4.FHadAC

Options :

68634018761. 1
68634018762. 2
68634018763. 3
68634018764. 4




Question Number : 92 Question Id : 6863404739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The statements that correctly describe bilirubin are

A. Bilirubin 1s the normal non-iron containing pigment present in the file

B. It 1s derived from the porphyrine ring of the haem moiety of haemoglobin
C. Excess of bilirubin cannot cause jaundice

D. Excess of bilirubin cannot be seen m hepatocytes

Choose the correct answer from the options given below:

1. Aand D only

| )

. B and C only
3. Aand B only

4. A. B and C only

Options :

68634018765. 1
68634018766. 2
68634018767. 3
68634018768. 4

Question Number : 92 Question Id : 6863404739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Byl BT 9T BTy ol fafersie & 98l T $d © -

A, Tafereie Ue SmMg SRA Ied auie § o [ J Sufud 8
B. U8 311 5 & URGERA 1 9 [Hfifa fear man g

C. fafersfem 3t siftrear ¥ difemn 7g siar

D. faferela 3t S ged DIRBISH T 181 SEl &1 Fobdl

i fou 7Tt fawedl © § 9El STR &1 997 Hifult:
1. Had A R D
2. $ad B 3R C
3. a0 A IRB
4. PaAABAHRC

Options :

68634018765. 1
68634018766. 2
68634018767. 3
68634018768. 4



Question Number : 93 Question Id : 6863404740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Chi- Square test 1 associated with which of the following?

AL Tt 1s used to test for independence between 2 variables

B. It 15 used to test for homogeneity or similarity

C. It aids in testing the goodness of fit between an observed and expected distribution

D. It 1s calculated utilizing the hypothetical frequencies and actual counts of individuals lacking or having a

particular attribute.
Choose the correct answer from the options given below:
1. A only
2. Aand C only

3. Aand D only

4. A. B and D only

Options :

68634018769. 1
68634018770. 2
68634018771. 3
68634018772. 4

Question Number : 93 Question Id : 6863404740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DTg-atl GH&or HH H 3 foud d6idd 82

A, Tg I =R & 7 RUear & fore waiv faegn o are e g

B. U8 GHEIdT 91 Gl W=+ & ol Wi fooar o arar 9ieor g

C. 7% & Ut 14 [GoRu & 9HeH-g55dl (IS4 1% the) & ignr d 98 o

D. SY®] VML Ydh e il d3d T aafdqdl &1 ardides Mo foH ue fafRny 1o sufyd an

SUIUT §1. 1 WA $Reb Bl alldl &
i fu 0 f[daredl | U Uel 3R &1 904 diu;
1. $dd A
2. Pad AR C
3.%ad A JRD
4. PTAA.B IR D

Options :
68634018769. 1



68634018770. 2
68634018771.3
68634018772. 4

Question Number : 94 Question Id : 6863404741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

1ISTI LISTII
A ICD44 I. |Thev have alpha and beta (CD18) subunits, they have a role to play in cell. ECM interaction.
B. |Selectins II. |They are calcium dependent adhesion molecules
C. |Integrins II1. [They find to hvaluronic acid, they are expressed on leukocytes
D. |Cadherins IV. [They contain lectin or lectin like protein molecules

Choose the correct answer from the options given below:

1. A-III, B-IV. C-1. D-II

| ]

A-IILL B-1, C-ILL. D-IV

L]

A-IL B-III. C-IV, D-1
4. A-I. B-II, C-III. D-IV

Options :

68634018773. 1
68634018774. 2
68634018775. 3
68634018776. 4

Question Number : 94 Question Id : 6863404741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

T 1 T 11
S U Tl gUT d1el (CD1S)
A [cD44 1. [SUS®T 6. BIL@ECM TRER
EREESEIRN GRS

B.|uciged | 1L [de dicadn R Sidior oo 8
c. 2fm it e SRS 3 § T4 3 &,

' [oE ok e R yeRid e &
o ey n_.;?lﬁmﬁ‘crimﬁﬁi?ﬂ@!?rmé:ra{q
fafRad faeedl & 9 981 3R &1 99 BIfell :

1. A-IIT, B-IV. C-1. D-II

| )

AL B-1L C-IL, D-IV

LFN]

- A-IL B-III. C-IV. D-1
4. A-1. B-I1. C-III. D-IV

Options :

68634018773. 1
68634018774. 2
68634018775. 3
68634018776. 4

Question Number : 95 Question Id : 6863404742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Anterior Prtuttary Gland] 1 |Adreno corticotropic hormone
B. |Pancreas II. |Tri-1odothyronine
C. |Thvroid gland I1I. |Melatonin
D. [Pineal gland IV, |Insulin

Choose the correct answer from the options given below:
1. A-IL. B-ITI, C-IV. D-I
2. A-TIV, B-IIL C-I1, D-I
3. A-I B-IV, C-I1. D-III
4. A-ITL. B-11, C-IV, D-I
Options :

68634018777. 1
68634018778. 2



68634018779. 3
68634018780. 4

Question Number : 95 Question Id : 6863404742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

T I T 1T
HEUH Uy Ui 1 [ESHl dlicdielud ad]
AT 11 [eTs- SRS TR
RS U9 |11 [HeretE
a9y | v [ggicH

FafaRad o eal © O 9gl SR & 994 DI

1. A-IL. B-III. C-IV. D-1

ofofw>

| ]

. A-TV, B-III. C-1II. D-1
3. A-L. B-IV. C-II, D-III
4. A-I11, B-11. C-IV, D-I

Options :

68634018777. 1
68634018778. 2
68634018779. 3
68634018780. 4

Question Number : 96 Question Id : 6863404743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Phase) LIST II{Events)
A Gl I. Mitosis occurs with prophase metaphase, anaphase and telophase
B |5 II. |It iz regulated by Cyeclin E
C |G2 T |It 1s a short gap phase, the correctness of DINA synthesis 1s checked|
D M IV |Svnthesis of DNA takes place

Choose the correct answer from the options given below:

1. A-IIL B-1. C-IV, D-II

| E)

CA-IL B-IIL C-III. D-IV
3. A-IL B-IV. C-111, D-I
4, A-IV, B-11. C-I11, D-I

Options :



68634018781. 1
68634018782. 2
68634018783. 3
68634018784. 4

Question Number : 96 Question Id : 6863404743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen
Hel 1 T 11

R fOHTSH. e, HeTlhyl,

A le1 I (U a1 Seiltel & | T Bl
&

B. s 1. [g8 OEfead E gRI HdEd eidi &
05 TP BId] SaRIdl Hawil o,

C. le2 I11. [21 04T, YW Bl Yihdl Sl
EIGIE

D M IV [S1 090 &1 G2y gidl &

fafRad faeedl & 9 981 3R &1 99 BIfoll :

1. A-III., B-1. C-IV, D-II

| )

. A-L. B-II. C-III. D-IV
3. A-IL. B-IV. C-II1. D-I
4. A-IV, B-11. C-I11, D-I

Options :

68634018781. 1
68634018782. 2
68634018783. 3
68634018784. 4

Question Number : 97 Question Id : 6863404744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Microbe) LIST II (Associated structure)
! eishmeania donovani | 1. [Trophozoite and Cyst

|Entamoeba histolyiical 11. [Hyphae

| {spergiilus III. |Promastigote and Amastigote
Bacterium IV. Peptidoglvean and nucleoid

REE

Choose the correct answer from the options given below:

1. A-IL. B-III, C-IV. D-I

| ]

. A-IL B-IV, C-T11. D-1
3. A-III, B-1, C-II, D-IV
4. A-I. B-II, C-III. D-IV

Options :

68634018785. 1
68634018786. 2
68634018787. 3
68634018788. 4

Question Number : 97 Question Id : 6863404744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

T 1 g 1
R S0 | 1 [ereleige o R (@@
esnliel ewifaied] 1L Bl (daddq)
S ERE I [JIHEIE aul THERRT
da gy @ianp | 1v [UipEiarie qul bt

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-II. B-ITI. C-IV. D-I

ofofw]s

| o

A-IL B-IV, C-I11. D-1
3. A-IIL. B-1, C-II. D-IV
4. A-1. B-I1. C-III, D-IV

Options :

68634018785. 1
68634018786. 2
68634018787. 3
68634018788. 4



Question Number : 98 Question Id : 6863404745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A I. |Prothrombin
B. |II II. [Fibrinogen
C. [T I |ca™?

D. IV IV, |Tissues factor

Choose the correct answer from the options given below:

1. A-I1. B-1. C-IV. D-ITI
2. A-ILL B-1I1. C-1. D-IV
3. A-I. B-II1. C-IV. D-II
4. A-IV. B-1I. C-1. D-III

Options :

68634018789. 1

68634018790. 2

68634018791. 3
68634018792. 4

Question Number : 98 Question Id : 6863404745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
T 1 el
Al 1 [miurfeEa
B | N IERIEE
C. |IIT I jca™2
D. v IV [Sd® BRE
fFafaRad fasedl § O 981 ST &1 994 Sifoe

1. A-IL. B-1. C-IV, D-III

[ ]

AL B-IIL C-LL D-IV
3. A-L. B-III, C-IV. D-II
4. A-IV. B-1I. C-I1, D-III

Options :

68634018789. 1

68634018790. 2
68634018791. 3



68634018792. 4

Question Number : 99 Question Id : 6863404746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST T (Name of bones)|LIST II (No. of bones)
A |Cervical Spine I 12

B. [Thoracic Spine II. b

C. [Lumbar Spine . g

D. [Coccyvx IV. |7

Choose the correct answer from the options given below:

1. A-III, B-1. C-I1. D-IV

| E)

. A-TV. B-III. C-1, D-I1
3. A-L. B-II. C-III. D-IV
4, A-IV, B-1, C-11, D-III

Options :

68634018793. 1
68634018794. 2
68634018795. 3
68634018796. 4

Question Number : 99 Question Id : 6863404746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

S T I
sfRmFam | afemd $td.n
A [idepdw| 1 i
B |[RgmEET |0 f5
C. [rwEa [mf
D. [Plddd v. [
FfaiRad foseal § O 98! SR & 904 DI

1. A-III, B-1. C-II. D-IV

2. ATV, B-1II. C-I. D-II

3. A-L B-II. C-III. D-IV

4. A-IV, B-1. C-II, D-III



Options :

68634018793. 1
68634018794. 2
68634018795. 3
68634018796. 4

Question Number : 100 Question Id : 6863404747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Molecule) | LIST II (Content)
Proteins I. |Leucine

ENA II. |Polymers
Dolysaccharide | 11 JAmino acid
Pulses IV, [Nucleic acid

T REE

Choose the correct answer from the options given below:

1. A-II. B-IV. C-1, D-11

| )

CA-IIL B-IV. C-I1. D-1
3. A-L. B-III, C-II, D-IV
4, A-IV, B-11. C-1, D-III

Options :

68634018797. 1
68634018798. 2
68634018799. 3
68634018800. 4

Question Number : 100 Question Id : 6863404747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I1. B-IV. C-1. D-TI
2. AT B-IV. C-I1, D-I
3. A-I. B-IL. C-II. D-IV
4. A-TV. B-11., C-1. D-III

Options :

68634018797. 1

68634018798. 2

68634018799. 3
68634018800. 4



